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1. sin”x+cos'x= (a) g (b) = (c) (d)

2. The area of the curve y=+1-x*> from x=-1 to x= 1 is rotated about the

X-axis. Find the resulting surface area (a) g— () % () 2 (d)4n
dt

S

4. If x>0, lim¥x= (2) @ B)1 ()0 (d) x

= (@) sinhx () sin?x (c) x (d) x°

N |

5. lim(\/n2+n—n)= (@ @ (b) -= ()0 (d)

J.x ~x* = 2x% 4+ 4x2 —15x+édx_
(x +1) (x +4)

+C

(a)--l—h'x}x2 +4’—§tan‘1£+ 2tan™ x + —
2 2 2 x“+1

+C

1 3. . - 2
(b)-2-ln‘x2 +4’+5tan '2x+2tan ‘x+x2 )

+C

(c)lln,x2 +4, +2tan Z 4 2tant % 4 22
2 2 2 x“+1

+C

(d)llnlx2 +4,-§tan'1 2x+2tan' x? + 22
2 2 x“+1

7. Evaluate f sin(In(x))dx = (a) g— [sin(in x) + cos(lnx)]+C
) %[sin(ln x)~cos(lnx)]+C
(c) % [sin(ln x) + cos(ln x)] +C

@ 1[sinan %)= cos(lnx)]+ C

8. Find the length of the arc of the cardioid r=1-cosf from =0 to 6 = 2
@)2(®) 4(c)8(d)12
9. Find 1im(L__1_)= @0 () © (o) % @ _%

»=I"\x-1 Inx
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10. Evaluate i—m @)0 () -1 (c) % (d) oo
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(15%) Evaluate the following functions:

= 11

a. }‘i_gox(cosx)}ﬁ2 (5%)
b. fsinh’lxdx (5%)

x*

c. Find the derivatives of x (5%)

2. (10%) Prove that x = -1, and n 1s a positive integer, then
Q+x) 21+mx

3. (10%) Show that

f e dx -—

4. (5%) Prove that

2 ! converges, and find its sum.
= n(n+1) ‘

5. (10%) Prove that

j; ¥ e x"dx = nl (reN) N is positive integer.






